Table entry for C is the critical
value t* required for confidence
level C. To approximate one- and
two-sided P -values, compare the
value of the ¢ statistic with the
critical values of t* that match
the P-values given at the bottom
of the table.

CONFIDENCE LEVEL C

DEGREES OF .

FREEDOM 50% 60% 70% 80% 90% 95% 96% 98% 99% 99.5% 99.8% 99.9%
1 £ 1.000 1376 1963 3078 6314 12.71 15.89 31.82 63.66 127.3 318.3 636.6
2 0816 1.061 1386 1.886 2.920 4.303 4.849 6.965 9.925 14.09 22.33 31.60
3 0.765 0978 1250 1.638 2.353 3.182 3.482 4.541 5.841 7453 10.21 12.92
4 0.741 0941 1.190 1533 2.132 2.7176 2.999 3.747 4.604 5.598 7.173 8.610
5 1476  2.015 . 3.365 5.893
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50 L0679 0.849 1.047 1.299 1.676 2.009 2.109 2.403 2.678 2.937 3.261 3.496

60 0.679 0.848 1.045 1296 1.671 2.000 2.099 2.390 2.660 2915 3.232 3.460

80 0.678 0.846 1.043 1292 1.664 1990  2.088 2374 2639 2887 3195 3416

100 0.677- 0845 1.042 1290 1.660 1984  2.081 2364 2626 2871 3174  3.390

1000 | 0675 0842 1037 1282 1646 1962 2.056 2330  2.581 2.813 3.098  3.300
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One-sided P 25 .20 15 .10 .05 025 .02 .01 .005 .0025 .001 .0005

Two-sided P .50 40 .30 .20 .10 .05 .04 .02 01 .005 002 .001



